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10 | 830 | 415 | 830 | 581
050 | L2 | 779 | 389 | 934 | 545
' 14 | 734 | 367 | 1028 | 514
16 | 694 | 347 | 1111 | 486
10 | 796 | 438 | 796 | 557
055 | L2 | 750 | 413 | 0900 | 525
' 14 | 709 | 390 | 992 | 496
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10 | 766 | 459 | 766 | 536
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: 14 | 684 | 411 | 958 | 479
16 | 650 | 390 | 1040 | 455
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C: P: Cx wt.%
K1,Ko2 K2=K3(C/W)i,(K1=2.92x 10 5K3=0.397,V=59.77,n=1.489,j= 1.78)
(0} cm2/g (C/wW)
2 20
Dh,=axW/C)*  (3) Dh, :
W/C a,b: a=0.0016,b= 3.90
-2 a, b,
w/Cc| 0.50 0.55 0.60
Dh. =a,xt+b 4 Dh, :
a2 > (@ o a, | 0.002 [0.0015] 0.001
t: a,b,: - b, | 0302 [ 0.231 | 0.168
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0.89 1.23 1.04 9.51%
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w/C S/C |AE ) A B| A/B ol () B
(kg/m>) | (Pa s) | (Pa s) @ ® 0
0.068 | 576 | 572 | 1.01 m P o -
1.0 0.102 5.65 5.10 .11 a o 90
0.136 5.52 4.72 1.17 40 —
0.068 7.79 7.79 1.00
1.2 0.102 7.62 7.63 1.00 B .
0.136 7.44 6.69 1.11
0.60 0.068 | 1078 | 10.73 | 1.00 20— —
1.4 0.102 | 1053 | 10.12 1.04 | 4
0.136 | 10.27 9.62 1.07 | | |
0.068 | 15.10 | 15.05 1.00 L L L
1.6 0.102 | 14.73 | 1455 1.01 20 40 60
0.136 | 14.34 | 14.11 1.02 (Pa 9
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